CLASS - |
IMO WORKSHEET - 7

Q -1 Which is the correct number name for 44 ?

a) Fourty four b) Forty for c) Forty four d) Four four

Q - 2 Which one of the following is correct ?

a) 103 <301 b) 200< 199 c) 155 =151 d) 165> 165

Q - 3 Complete the series by choosing the correct option----

10, 20, 30, 40 , ) , 70 , 80

a) 45, 50 by 50,60  ¢) 55, 60 d) 65, 60

Q - 4 Choosethe correct shape to complete the series.........
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a)[] b) A\ c)* d)**

Q -5 Count the number of straight lines in the given figure.........
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a) 5 b) 8 c) 4 d) 6
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Q - 6 Choose the correct option for the given statement.......

—= "5 5 more than 5 is equal to 10

a) 5+5=10 b) 56 -5=10 c) 5x5=10 d) 5+0=5
Q -7 One hundred fifty will come after ........

a) One hundred fifty one b) One hundred forty nine
c) One hundred fifty two d) None

Q - 8 If we count backwards, which of the following is true.......
a) 100,99,98, 97 b) 100,101,102, 103

c) 100,98,99, 97 c) 97,98,99,100

Q-9 Anumber with 2 at "H" place,3 at " T"placeand 5 at " O
" place iS.....cceeen ’

a) 325 b) 253 c) 235 d) 352
Q-10 5 lessthan 5 is equalto...............

a) 5 b) 0 c) 10 d) 1
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Q -13 Seema has a coin of 5,32 and31. What is the total amount of
money she has? '

a)T 4 b) X 6 )T 9 d)F8

Q - 14 Which is the correct subtraction sentence for the given
picture?
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a) 8-3 b) 8+3 c) 7-3 d7+3




Q-15 Mother gave Sia %10 to buy a pencil, She spent 7. How much
money does she have left with her? ‘

a)T 5 b) T3 c) T8 d)F2

Q-16 Find the missing number,
9-4= +2
a) 6 b) 8 c) 3 d) 2

Q - 17 Ruby got 10 toffees on her birthday,

pepepefofogogododo;

She gave equal number of toffees to Meera and Tina, How many
toffees will each have?

a) 2 b) 6 c) 5 d) 9

Q - 18 Which of the following options will complete the given number
bond?

a) 4 ones + 5 tens

b) 4 tens + 5 tens

c) 4 tens + 5 ones

d) 4 ones + 5 ones



